Intro to Polar Form Notes

Plot the point with the given polar coordinates.
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Find 3 other polar coordinates that describe the same point as the provided polar coordinates
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Convert each pair of polar coordinates to rectangular coordinates. L{ T ( ‘) 1
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Convert each pair of rectangular coordinates to polar coordinates whend 0<6<2n.
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Consider each polar equation. Classify the curve; and sketch the graph.
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16) r=4sin (36)
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17) r=2cos (50)
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Convert each equation from rectangular to polar form.
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Convert each equation from polar to rectangular form.
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